
PRODUCT 
CROSSOVER

GUIDE
80/20 TO FRAME-WORLD 
ALUMINUM PROFILES 
AND ACCESSORIES

1



CONTENTS

Profiles ........................

Brackets ......................

Plates ...........................

Fasteners .....................

Panels & Doors ...........

Accessories ................

Floor to Frame ............

Machining ....................

3 - 13

14 - 23

23 - 29

29 -  54

54 - 63

63 - 72

72 - 79

79 - 81

80/20 & FRAME-WORLD POPULAR PRODUCT CROSSOVERS

Buy Frame-World ONLINE at www.airlinehyd.com

On our website, type the Frame-World OR 80/20 part number in the search bar to 
find Frame-World product crossovers. When searching by the 80/20 part number, 

type 8020 or 80/20 before the 4-digit part number.
(For example, search "8020 6726")

800-999-7378
2



SEARCH BY 80/20 OR FRAME-WORLD PART NUMBER AT  https://www.airlinehyd.com/category/INCH_EXTRUSION/4215

80/20 PART # F-W PART # DESCRIPTION IMAGE SERIES

PROFILES

1010-Black BLX-11 L=192.63
1.0" x 1.0" black anodized aluminum 

extrusion 192.63" long 
1"

1010-Black BLX-11 L=96.00
 1.0" x 1.0" black anodized aluminum 

extrusion 96" long 
1"

2020-Black BLX-22 L=192.63
2.0" x 2.0" black anodized aluminum 

extrusion 192.63"
1"

2020-Black BLX-22 L=96.00
 2.0" x 2.0" black anodized aluminum 

extrusion 96" long 
1"

1010 EX-11 L=144.25
 1.0" x 1.0" clear anodized aluminum 

extrusion 144.25" long  
1"

1010 EX-11 L=192.63
 1.0" x 1.0" clear anodized aluminum 

extrusion 192.63" long  
1"

1010 EX-11 L=242.00
 1.0" x 1.0" clear anodized aluminum 

extrusion 242" long  
1"

1010 EX-11 L=96.00
 1.0" x 1.0" clear anodized aluminum 

extrusion 96" long  
1"

Profiles listed below are sold in pre-determined lengths, but we can also provide material cut 
to specified lengths.  In addition, Airline offers a wide variety of finishing options— hole drilling, 

thread tapping, miter cutting, milling, and more— to meet your requirements. Please submit 
our form to place a special order.

CUSTOM REQUEST FORM

800-999-7378 3

https://share.hsforms.com/17g-ssn6hTTSG-beMZ8S0Ww51h24


80/20 PART # F-W PART # DESCRIPTION IMAGE SERIES

SEARCH BY 80/20 OR FRAME-WORLD PART NUMBER AT  https://www.airlinehyd.com/category/INCH_EXTRUSION/4215

1020 EX-12 L=192.63
 1.0" x 2.0" clear anodized aluminum 

extrusion 192.63" long  
1"

1020 EX-12 L=96.00
 1.0" x 2.0" clear anodized aluminum 

extrusion 96" long 
1"

1030 EX-13 L=192.63
 1.0" x 3.0" clear anodized aluminum 

extrusion 192.63" long  
1"

1030 EX-13 L=96.00
 1.0" x 3.0" clear anodized aluminum 

extrusion 96" long  
1"

1012 EX-14 L=192.63
 1.5" x 1.5" clear rounded anodized 
aluminum extrusion 192.63" long 

1"

1012 EX-14 L=96.00
 1.0" x 1.0" clear anodized aluminum 

extrusion 96" long, rounded  
1"

2020 EX-22 L=192.63
 2.0" x 2.0" clear anodized aluminum 

extrusion 192.63" long  
1"

2020 EX-22 L=96.00
 2.0" x 2.0" clear anodized aluminum 

extrusion 96" long  
1"

2040 EX-24 L=192.63
 2.0" x 4.0" clear anodized aluminum 

extrusion 192.63" long  
1"

2040 EX-24 L=96.00
 2.0" x 4.0" clear anodized aluminum 

extrusion 96" long  
1"

800-999-7378800-999-7378
4



80/20 PART # F-W PART # DESCRIPTION IMAGE SERIES

SEARCH BY 80/20 OR FRAME-WORLD PART NUMBER AT  https://www.airlinehyd.com/category/INCH_EXTRUSION/4215

2012 EX-28 L=192.63
  0.50" x 2.0" clear anodized aluminum 

extrusion 192.63" long 
1"

2012 EX-28 L=96.00
 0.50" x 2.0" clear anodized aluminum 

extrusion 96" long 
1"

1001 EX-70 L=192.63
  1.0" x 1.0" clear anodized aluminum 

extrusion 192.63" long 
1"

1001 EX-70 L=96.00
  1.0" x 1.0" clear anodized aluminum 

extrusion 96" long 
1"

1004 EX-71 L=192.63
  1.0" x 1.0" clear anodized aluminum 

extrusion 192.63" long 
1"

1004 EX-71 L=96.00
  1.0" x 1.0" clear anodized aluminum 

extrusion 96" long 
1"

1002 EX-72 L=192.63
 1.0" x 1.0" clear anodized aluminum 

extrusion 192.63" long  
1"

1002 EX-72 L=96.00
  1.0" x 1.0" clear anodized aluminum 

extrusion 96" long 
1"

1003 EX-73 L=192.63
 1.0" x 1.0" clear anodized aluminum 

extrusion 192.63" long  
1"

1003 EX-73 L=96.00
 1.0" x 1.0" clear anodized aluminum 

extrusion 96" long  
1"

800-999-7378
5



80/20 PART # F-W PART # DESCRIPTION IMAGE SERIES

SEARCH BY 80/20 OR FRAME-WORLD PART NUMBER AT  https://www.airlinehyd.com/category/INCH_EXTRUSION/4215

1515-Black BLX-1 L=192.63
1.5" x 1.5" black anodized aluminum 

extrusion 192.63" long
1.5"

1515-Black BLX-1 L=96.00
1.5" x 1.5" black anodized aluminum 

extrusion 96" long
1.5"

1530-Black BLX-2 L=192.63
 1.5" x 3.0" black anodized aluminum 

extrusion 192.63" long
1.5"

1530-Black BLX-2 L=96.00
1.5" x 3.0" black anodized aluminum 

extrusion 96" long
1.5"

3030-Black BLX-3 L=192.63
 3.0" x 3.0" black anodized aluminum 

extrusion 192.36" long
1.5"

3030-Black BLX-3 L=96.00
3.0" x 3.0" black anodized aluminum 

extrusion 96" long
1.5"

1515-Lite-Black BLX-6 L=192.63
 1.5" x 1.5" black anodized aluminum 

extrusion 192.63" long 
1.5"

1515-Lite-Black BLX-6 L=96.00
1.5" x 1.5" black anodized aluminum 

extrusion 96" long
1.5"

1515-UL-Black BLX-9 L=192.63
1.5" x 1.5" black anodized aluminum 

extrusion 192.63" long
1.5"

1515-UL-Black BLX-9 L=96.00
1.5" x 1.5" black anodized aluminum 

extrusion 96" long, light duty 
1.5"

800-999-7378
6



80/20 PART # F-W PART # DESCRIPTION IMAGE SERIES

SEARCH BY 80/20 OR FRAME-WORLD PART NUMBER AT  https://www.airlinehyd.com/category/INCH_EXTRUSION/4215

1515 EX-1 L=144.25
 1.5" x 1.5" clear anodized aluminum 

extrusion 144.25" long  
1.5"

1515 EX-1 L=192.63
 1.5" x 1.5" clear anodized aluminum 

extrusion 192.63" long 
1.5"

1515 EX-1 L=242.00
 1.5" x 1.5" clear anodized aluminum 

extrusion 242" long 
1.5"

1515 EX-1 L=96.00
FRAMEWORLD 

Alum.Extr,5/16"slot,1.5"x 1.5 
1.5"

1530 EX-2 L=144.25
 1.5" x 3.0" clear anodized aluminum 

extrusion 144.25" long 
1.5"

1530 EX-2 L=192.63
 1.5" x 3.0" clear anodized aluminum 

extrusion 192.63" long 
1.5"

1530 EX-2 L=242.00
 1.5" x 3.0" clear anodized aluminum 

extrusion 242" long 
1.5"

1530 EX-2 L=96.00
 1.5" x 3.0" clear anodized aluminum 

extrusion 96" long 
1.5"

1545 EX-26 L=192.63
 1.5" x 4.5" clear anodized aluminum 

extrusion 192.63" long 
1.5"

1545 EX-26 L=96.00
 1.5" x 4.5" clear anodized aluminum 

extrusion 96" long 
1.5"

800-999-7378
7



80/20 PART # F-W PART # DESCRIPTION IMAGE SERIES

SEARCH BY 80/20 OR FRAME-WORLD PART NUMBER AT  https://www.airlinehyd.com/category/INCH_EXTRUSION/4215

3030 EX-3 L=144.25
 3.0" x 3.0" clear anodized aluminum 

extrusion 144.25" long 
1.5"

3030 EX-3 L=192.63
 3.0" x 3.0" clear anodized aluminum 

extrusion 192.63" long 
1.5"

3030 EX-3 L=242.00
 3.0" x 3.0" clear anodized aluminum 

extrusion 242" long 
1.5"

3030 EX-3 L=96.00
 3.0" x 3.0" clear anodized aluminum 

extrusion 96" long 
1.5"

3060 EX-36 L=192.63
 3.0" x 6.0" clear anodized aluminum 

extrusion 192.63" long  
1.5"

3060 EX-36 L=96.00
 3.0" x 6.0" clear anodized aluminum 

extrusion 96" long  
1.5"

3030-Lite EX-37 L=192.63
 3.0" x 3.0" clear anodized aluminum 

extrusion 192.63" long  
1.5"

3030-Lite EX-37 L=96.00
 3.0" x 3.0" clear anodized aluminum 

extrusion 96" long  
1.5"

3034-Lite EX-57 L=192.63
 0.75" x 1.5" clear anodized aluminum 

extrusion 192.63" long 
1.5"

3034-Lite EX-57 L=96.00
 0.75" x 1.5" clear anodized aluminum 

extrusion 96" long 
1.5"

800-999-7378
8



80/20 PART # F-W PART # DESCRIPTION IMAGE SERIES

SEARCH BY 80/20 OR FRAME-WORLD PART NUMBER AT  https://www.airlinehyd.com/category/INCH_EXTRUSION/4215

1515-Lite EX-6 L=144.25
 1.5" x 1.5" clear anodized aluminum 

extrusion 144.25" long  
1.5"

1515-Lite EX-6 L=192.63
  1.5" x 1.5" clear anodized aluminum 

extrusion 192.63" long  
1.5"

1515-Lite EX-6 L=242.00
  1.5" x 1.5" clear anodized aluminum 

extrusion 242" long  
1.5"

1515-Lite EX-6 L=96.00
 1.5" x 1.5" clear anodized aluminum 

extrusion 96" long 
1.5"

1501-LS EX-61 L=192.63
  1.5" x 1.5" clear anodized aluminum 

extrusion 192.63" long  
1.5"

1501 EX-61 L=96.00
  1.5" x 1.5" clear anodized aluminum 

extrusion 96" long 
1.5"

1503 EX-63 L=192.63
 1.5" x 1.5" clear anodized aluminum 

extrusion 192.63" long 
1.5"

1503 EX-63 L=96.00
  1.5" x 1.5" clear anodized aluminum 

extrusion 96" long 
1.5"

1504 EX-64 L=192.63
  1.5" x 1.5" clear anodized aluminum 

extrusion 192.63" long  
1.5"

1504 EX-64 L=96.00
 1.5" x 1.5" clear anodized aluminum 

extrusion 96" long 
1.5"

800-999-7378
9



80/20 PART # F-W PART # DESCRIPTION IMAGE SERIES

SEARCH BY 80/20 OR FRAME-WORLD PART NUMBER AT  https://www.airlinehyd.com/category/INCH_EXTRUSION/4215

1502 EX-65 L=192.63
 1.5" x 1.5" clear anodized aluminum 

extrusion 192.63" long 
1.5"

1502 EX-65 L=96.00
 1.5" x 1.5" clear anodized aluminum 

extrusion 96" long 
1.5"

1530-Lite EX-67 L=144.25
 1.5" x 3.0" clear anodized aluminum 

extrusion 144.25" long 
1.5"

1530-Lite EX-67 L=192.63
 1.5" x 3.0" clear anodized aluminum 

extrusion 192.63" long 
1.5"

1530-Lite EX-67 L=242.00
  1.5" x 3.0" clear anodized aluminum 

extrusion 242" long  
1.5"

1530-Lite EX-67 L=96.00
 1.5" x 3.0" clear anodized aluminum 

extrusion 96" long 
1.5"

1547 EX-7 L=192.63
 1.5" x 1.5" clear anodized aluminum 
extrusion 192.63" long, 45° smooth  

1.5"

1547 EX-7 L=96.00
 1.5" x 1.5" clear anodized aluminum 

extrusion 96" long, 45° smooth 
1.5"

1517 EX-8 L=192.63
 1.5" x 1.5" clear anodized aluminum 

extrusion 192.63" long, rounded  
1.5"

1517 EX-8 L=96.00
  1.5" x 1.5" clear anodized aluminum 

extrusion 96" long, rounded  
1.5"

800-999-7378
10



80/20 PART # F-W PART # DESCRIPTION IMAGE SERIES

SEARCH BY 80/20 OR FRAME-WORLD PART NUMBER AT  https://www.airlinehyd.com/category/INCH_EXTRUSION/4215

1502 EX-65 L=192.63
 1.5" x 1.5" clear anodized aluminum 

extrusion 192.63" long 
1.5"

1502 EX-65 L=96.00
 1.5" x 1.5" clear anodized aluminum 

extrusion 96" long 
1.5"

1530-Lite EX-67 L=144.25
 1.5" x 3.0" clear anodized aluminum 

extrusion 144.25" long 
1.5"

1530-Lite EX-67 L=192.63
 1.5" x 3.0" clear anodized aluminum 

extrusion 192.63" long 
1.5"

1530-Lite EX-67 L=242.00
  1.5" x 3.0" clear anodized aluminum 

extrusion 242" long  
1.5"

1530-Lite EX-67 L=96.00
 1.5" x 3.0" clear anodized aluminum 

extrusion 96" long 
1.5"

1547 EX-7 L=192.63
 1.5" x 1.5" clear anodized aluminum 
extrusion 192.63" long, 45° smooth  

1.5"

1547 EX-7 L=96.00
 1.5" x 1.5" clear anodized aluminum 

extrusion 96" long, 45° smooth 
1.5"

1517 EX-8 L=192.63
 1.5" x 1.5" clear anodized aluminum 

extrusion 192.63" long, rounded  
1.5"

1517 EX-8 L=96.00
  1.5" x 1.5" clear anodized aluminum 

extrusion 96" long, rounded  
1.5"

800-999-7378
11



80/20 PART # F-W PART # DESCRIPTION IMAGE SERIES

SEARCH BY 80/20 OR FRAME-WORLD PART NUMBER AT  https://www.airlinehyd.com/category/INCH_EXTRUSION/4215

8223 EX-17 L=96.00
FRAMEWORLD Alum.Angle Bracket 

Profile  2 

8222 EX-17-ANDZ
FRAMEWORLD Alum.Angle Bracket 

Profile  2 

8218 EX-18 L=144.25
FRAMEWORLD Alum.Angle Bracket 

Profile  1 

8218 EX-18 L=96.00
FRAMEWORLD Alum.Angle Bracket 

Profile  1 

8217 EX-18-ANDZ
FRAMEWORLD Alum.Angle Bracket 

Profile  1 

8631 EX-30 L=144.25
FRAMEWORLD Angle Bracket Profile  

1.5"x 

8631 EX-30 L=96.00
FRAMEWORLD Angle Bracket Profile  

1.5"x 

8630 EX-30-ANDZ
FRAMEWORLD Angle Bracket Profile  

1.5"x1 

8636 EX-31 L=144.25
FRAMEWORLD Angle Bracket Profile  

3"x 3" 

8636 EX-31 L=96.00
FRAMEWORLD Angle Bracket Profile  

3"x 3" 

800-999-7378
12



80/20 PART # F-W PART # DESCRIPTION IMAGE SERIES

SEARCH BY 80/20 OR FRAME-WORLD PART NUMBER AT  https://www.airlinehyd.com/category/INCH_EXTRUSION/4215

8635 EX-31-ANDZ
FRAMEWORLD Angle Bracket Profile  

3"x3" 

8621 EX-32 L=144.25
FRAMEWORLD Angle Bracket Profile  

1"x 1" 

8621 EX-32 L=96.00
FRAMEWORLD Angle Bracket Profile  

1"x 1" 

8620 EX-32-ANDZ
FRAMEWORLD Angle Bracket Profile  

1"x1" 

8626 EX-33 L=144.25
FRAMEWORLD Angle Bracket Profile  

2"x 2" 

8626 EX-33 L=96.00
FRAMEWORLD Angle Bracket Profile  

2"x 2" 

8625 EX-33-ANDZ
FRAMEWORLD Angle Bracket Profile  

2"x2" 

8231 EX-34 L=144.25
FRAMEWORLD Angle Bracket Profile  

1.5"x 

8231 EX-34 L=96.00
FRAMEWORLD Angle Bracket Profile  

1.5"x 

8230 EX-34-ANDZ
FRAMEWORLD Angle Bracket Profile  

1.5"x3 

800-999-7378
13



80/20 PART # F-W PART # DESCRIPTION IMAGE SERIES

SEARCH BY 80/20 OR FRAME-WORLD PART NUMBER AT  https://www.airlinehyd.com/category/INCH_EXTRUSION/4215

BRACKETS

4119 11-1 FRAMEWORLD Corner Angle 1"

2567 11-12-12
FRAMEWORLD 1"x2" Extrusion 

Gusset(12") 
1"

4015 11-13 FRAMEWORLD Corner Angle 1"

4016 11-14 FRAMEWORLD Corner Angle 1"

4265 11-15
 2 HOLE SLOTTED CORNER ANGLE 

BRACKET 
1"

4260 11-16 FRAMEWORLD Slo�ed Corner Angle 1"

4132 11-160 2 HOLE CORNER GUSSET 1"

4134 11-161 4 HOLE CORNER ANGLE 1"

4111 11-17 FRAMEWORLD Corner Angle 1"

4136 11-170 4 Hole Corner Gusset 1"

14



80/20 PART # F-W PART # DESCRIPTION IMAGE SERIES

SEARCH BY 80/20 OR FRAME-WORLD PART NUMBER AT  https://www.airlinehyd.com/category/INCH_EXTRUSION/4215

4138 11-171  8 HOLE CORNER GUSSET 1"

4121 11-19 FRAMEWORLD Corner Angle 1"

4176 11-2 3 HOLE CORNER BRACKET 1"

4151 11-20 7 HOLE JOING PLATE 1"

3376 11-201
FRAMEWORLD Pivot T-Nut w/rubber 

bumper - 
1"

3375 11-202
FRAMEWORLD Pivot T-Nut w/rubber 

bumper - 
1"

3876 11-203
FRAMEWORLD Pivot T-Nut w/rubber 

bumper - 
1"

4042 11-24 FRAMEWORLD 3-Way Castle Corner 1"

4115 11-3  4 HOLE CORNER BRACKET 1"

4122 11-37 FRAMEWORLD Corner Angle 1"

800-999-7378
15



80/20 PART # F-W PART # DESCRIPTION IMAGE SERIES

SEARCH BY 80/20 OR FRAME-WORLD PART NUMBER AT  https://www.airlinehyd.com/category/INCH_EXTRUSION/4215

4113 11-4 4 HOLE CORNER ANGLE 1"

4041 11-56 FRAMEWORLD Castle Corner 1"

4114 11-6 8 HOLE CORNER BRACKET 1"

2565 11-7 FRAMEWORLD Extrusion Gusset(6") 1"

2570 11-7-12 FRAMEWORLD Extrusion Gusset(12") 1"

2575 11-7-18 FRAMEWORLD Extrusion Gusset(18") 1"

4175 11-80 6 HOLE CORNER ANGLE 1"

4115 11-81 FRAMEWORLD Corner Angle 1"

4265-black 11-BLK-15
BLACK 2 HOLE SLOTTED CORNER 

BRACKET 
1"

4260-Black 11-BLK-16
FRAMEWORLD Black Slo�ed Corner 

Angle 
1"

800-999-7378
16



80/20 PART # F-W PART # DESCRIPTION IMAGE SERIES

SEARCH BY 80/20 OR FRAME-WORLD PART NUMBER AT  https://www.airlinehyd.com/category/INCH_EXTRUSION/4215

4132-Black 11-BLK-160 BLACK 2 HOLE CORNER GUSSET 1"

4134-Black 11-BLK-161 BLACK 4 HOLE CORNER ANGLE 1"

4136-Black 11-BLK-170 BLACK 4 HOLE CORNER GUSSET 1"

4138-Black 11-BLK-171 FRAMEWORLD Black Corner Gusset 1"

4176-Black 11-BLK-2  BLACK 3 HOLE CORNER BRACKET 1"

4042-Black 11-BLK-24
FRAMEWORLD Black 3-Way Castle 

Corner 
1"

4115-Black 11-BLK-3  BLACK 4 HOLE CORNER BRACKET 1"

4113-Black 11-BLK-4 BLACK 4 HOLE CORNER ANGLE 1"

4114-Black 11-BLK-6 BLACK 8 HOLE CORNER BRACKET 1"

2565-Black 11-BLK-7
FRAMEWORLD Black 1"x1" Extrusion 

Gusset
1"

800-999-7378
17



80/20 PART # F-W PART # DESCRIPTION IMAGE SERIES

SEARCH BY 80/20 OR FRAME-WORLD PART NUMBER AT  https://www.airlinehyd.com/category/INCH_EXTRUSION/4215

4503 11-5 FRAMEWORLD Transi�on Corner Angle 1"

4503 11-53 FRAMEWORLD Transi�on Corner Angle 1"

4504 11-54 FRAMEWORLD Transi�on Corner Angle 1"

4302-Black BLB-1 BLACK 2 HOLE CORNER BRACKET 1.5"

4376-Black BLB-100 FRAMEWORLD Black Corner Angle 1.5"

4290-Black BLB-103 FRAMEWORLD Black Corner Angle 1.5"

4332-Black BLB-111 BLACK 2 HOLE CORNER GUSSET 1.5"

4334-Black BLB-112 BLACK 4 HOLE CORNER GUSSET ANGLE 1.5"

4336-Black BLB-121 BLACK 4 HOLE CORNER GUSSET 1.5"

4338-Black BLB-122 BLACK 8 HOLE CORNER GUSSET 1.5"

800-999-7378
18



80/20 PART # F-W PART # DESCRIPTION IMAGE SERIES

SEARCH BY 80/20 OR FRAME-WORLD PART NUMBER AT  https://www.airlinehyd.com/category/INCH_EXTRUSION/4215

4303-Black BLB-2 FRAMEWORLD Black Corner Angle 1.5"

4301-Black BLB-3 BLACK 4 HOLE CORNER ANGLE 1.5"

4311-Black BLB-30 FRAMEWORLD Black Corner Angle 1.5"

4304-Black BLB-4 FRAMEWORLD Black Corner Angle 1.5"

1515-Black x 9" 
w/7080

BLB-7
FRAMEWORLD 1.5x1.5 Extrusion Black 

Corne 
1.5"

1530-Black x 9" 
w/7090

BLB-9
FRAMEWORLD 1.5x3.0 Extrusion Black 

Corne 
1.5"

1530-Black x 
length w/7091

BLB-9-SP
FRAMEWORLD Custom Length 

1.5"x3.0" Black 
1.5"

4302 EB-1 2 HOLE CORNER BRACKET 1.5"

4376 EB-100  3 HOLE CORNER ANGLE 1.5"

4375 EB-101  6 HOLE CORNER ANGLE 1.5"

800-999-7378
19



80/20 PART # F-W PART # DESCRIPTION IMAGE SERIES

SEARCH BY 80/20 OR FRAME-WORLD PART NUMBER AT  https://www.airlinehyd.com/category/INCH_EXTRUSION/4215

4295 EB-102 2 HOLE SLOTTED CORNER BRACKET 1.5"

4290 EB-103 4 HOLE SLOTTED CORNER ANGLE 1.5"

4332 EB-111 2 HOLE CORNER GUSSET 1.5"

4334 EB-112 4 HOLE CORNER GUSSET 1.5"

4336 EB-121 4 HOLE CORNER GUSSET 1.5"

4338 EB-122 8 HOLE CORNER GUSSET 1.5"

4303 EB-2 4 HOLE CORNER ANGLE 1.5"

4311 EB-25 FRAMEWORLD Corner Angle 1.5"

4301 EB-3 4 HOLE CORNER ANGLE 1.5"

4311 EB-30 FRAMEWORLD Corner Angle 1.5"

800-999-7378
20



80/20 PART # F-W PART # DESCRIPTION IMAGE SERIES

SEARCH BY 80/20 OR FRAME-WORLD PART NUMBER AT  https://www.airlinehyd.com/category/INCH_EXTRUSION/4215

4304 EB-4   8 HOLE CORNER ANGLE  1.5"

4441 EB-52
FRAMEWORLD Castle Corner(1.5x1.5 

Profile 
1.5"

4308 EB-57 6 HOLE CORNER ANGLE 1.5"

4309 EB-58 6 HOLE CORNER ANGLE 1.5"

4415 EB-59 6 HOLE CORNER ANGLE 1.5"

1515 x 3" 
w/7080

EB-6
FRAMEWORLD 1.5"x1.5" Extrusion 

Corner Gusset
1.5"

4416 EB-60 12 HOLE CORNER ANGLE 1.5"

1515 x 9" 
w/7080

EB-7
FRAMEWORLD 1.5"x1.5" Extrusion 

Corner Gu 
1.5"

2535 EB-7-12
FRAMEWORLD 12" Extrusion Corner 

Gusset w 
1.5"

2545 EB-7-18
FRAMEWORLD 18" Extrusion Corner 

Gusset w 
1.5"

800-999-7378
21



80/20 PART # F-W PART # DESCRIPTION IMAGE SERIES

SEARCH BY 80/20 OR FRAME-WORLD PART NUMBER AT  https://www.airlinehyd.com/category/INCH_EXTRUSION/4215

2525 EB-7-6
FRAMEWORLD 6" Extrusion Corner 

Gusset w/ 
1.5"

1515L x 9" w/ 
7080

EB-7LT
FRAMEWORLD Light Extrusion Corner 

Gusset 
1.5"

2561 EB-7LT-12
FRAMEWORLD 12" Light Extrusion 

Corner Gu 
1.5"

2563 EB-7LT-18
FRAMEWORLD 18" Light Extrusion 

Corner Gu 
1.5"

2562 EB-7LT-6
FRAMEWORLD 6" Light Extrusion 

Corner Gus 
1.5"

14113 EB-86
FRAMEWORLD Castle Corner w/cap + 

hdw 
1.5"

1530 x 9" 
w/7090

EB-9
FRAMEWORLD 1.5"x3" Extrusion 

Corner Guss 
1.5"

2540 EB-9-12
FRAMEWORLD 12" 1.5"x 3" Extrusion 

Corner 
1.5"

2530 EB-9-6
FRAMEWORLD 6" 1.5"x3" Extrusion 

Corner G 
1.5"

14176 ECC-A FRAMEWORLD 3-Way Castle Corner 1.5"

800-999-7378
22



80/20 PART # F-W PART # DESCRIPTION IMAGE SERIES

SEARCH BY 80/20 OR FRAME-WORLD PART NUMBER AT  https://www.airlinehyd.com/category/INCH_EXTRUSION/4215

PLATES

3364 EF-27 FRAMEWORLD Internal Corner Bracket 1.5"

3368 EF-27-SS
FRAMEWORLD Internal Corner Bracket 

w/SS 
1.5"

4117 11-22 FRAMEWORLD Joining Plate 1"

4118 11-23 FRAMEWORLD Joining Plate 1"

4128 11-25 FRAMEWORLD Joining Plate 1"

4165 11-27 8 HOLE JOINING PLATE 1"

4166 11-28  6 HOLE JOINING PLATE 1"

4167 11-30  4 HOLE JOINING PLATE 1"

4107 11-38 2 HOLE JOINING STRIP 1"

4167 11-39 FRAMEWORLD Joining Plate 1"

800-999-7378
23



80/20 PART # F-W PART # DESCRIPTION IMAGE SERIES

SEARCH BY 80/20 OR FRAME-WORLD PART NUMBER AT  https://www.airlinehyd.com/category/INCH_EXTRUSION/4215

4170 11-40 FRAMEWORLD Joining Plate 1"

4150 11-41 4 HOLE JOINING 1"

4140 11-42  5 HOLE CENTERED PLATE 1"

4112 11-43 FRAMEWORLD Joining Plate 1"

4141 11-44 FRAMEWORLD Joining Plate 1"

4135 11-51 FRAMEWORLD Joining Plate 1"

4151-Black 11-BLK-20 FRAMEWORLD Black Joining Plate 1"

4140-Black 11-BLK-21 FRAMEWORLD Black Joining Plate 1"

4117-Black 11-BLK-22 FRAMEWORLD Black Joining Plate 1"

4118-Black 11-BLK-23 FRAMEWORLD Black Joining Plate 1"

800-999-7378
24



80/20 PART # F-W PART # DESCRIPTION IMAGE SERIES

SEARCH BY 80/20 OR FRAME-WORLD PART NUMBER AT  https://www.airlinehyd.com/category/INCH_EXTRUSION/4215

4165-Black 11-BLK-27 FRAMEWORLD Black Joining Plate 1"

4107-Black 11-BLK-38 BLACK 2 HOLE JOINING STRIP 1"

4167-Black 11-BLK-39 FRAMEWORLD Black Joining Plate 1"

4150-Black 11-BLK-41 FRAMEWORLD Black Joining Plate 1"

4140-Black 11-BLK-42 FRAMEWORLD Black Joining Plate 1"

4141-Black 11-BLK-44 FRAMEWORLD Black Joining Plate 1"

4135-Black 11-BLK-51 FRAMEWORLD Black Joining Plate 1"

4346-Black BLB-127 FRAMEWORLD Black 45 Degree Plate 1.5"

4331-Black BLB-128 FRAMEWORLD Black 60 Degree Plate 1.5"

4361-Black BLB-129 FRAMEWORLD Black 30 Degree Plate 1.5"

800-999-7378
25



80/20 PART # F-W PART # DESCRIPTION IMAGE SERIES

SEARCH BY 80/20 OR FRAME-WORLD PART NUMBER AT  https://www.airlinehyd.com/category/INCH_EXTRUSION/4215

4351-Black BLB-22 FRAMEWORLD Black Joining Plate 1.5"

4340-Black BLB-23 BLACK 5 HOLE T JOINING PLATE 1.5"

4365-Black BLB-26 BLACK 8 HOLE JOINING PLATE 1.5"

4305-Black BLB-28 BLACK 4 HOLE JOINING STRIP 1.5"

4367-Black BLB-29 BLACK 4 HOLE JOINING PLATE 1.5"

4306-Black BLB-31 BLACK 3 HOLE JOINING STRIP 1.5"

4366-Black BLB-32 BLACK 6 HOLE JOINING PLATE 1.5"

4307-Black BLB-33 BLACK 2 HOLE JOINING STRIP 1.5"

4352-Black BLB-71 BLACK 8 HOLE 90 DEG JOINING PLATE 1.5"

4350-Black BLB-79 FRAMEWORLD Black Joining Plate 1.5"

800-999-7378
26



80/20 PART # F-W PART # DESCRIPTION IMAGE SERIES

SEARCH BY 80/20 OR FRAME-WORLD PART NUMBER AT  https://www.airlinehyd.com/category/INCH_EXTRUSION/4215

4346 EB-127 FRAMEWORLD 45° Joining Plate 1.5"

4331 EB-128 FRAMEWORLD 60° Joining Plate 1.5"

4361 EB-129 FRAMEWORLD 30° Joining Plate 1.5"

4351 EB-22 5 HOLE JOINING PLATE  1.5"

4340 EB-23 5 HOLE JOINING PLATE  1.5"

4325 EB-24 FRAMEWORLD Joining Plate 1.5"

4365 EB-26 8 HOLE JOINING PLATE  1.5"

4328 EB-27 FRAMEWORLD Joining Plate 1.5"

4305 EB-28 4 HOLE JOINING STRIP  1.5"

4367 EB-29  4 HOLE JOINING PLATE  1.5"

800-999-7378
27



80/20 PART # F-W PART # DESCRIPTION IMAGE SERIES

SEARCH BY 80/20 OR FRAME-WORLD PART NUMBER AT  https://www.airlinehyd.com/category/INCH_EXTRUSION/4215

4306 EB-31  3 HOLE JOINING STRIP  1.5"

4366 EB-32  6 HOLE JOINING PLATE 1.5"

4307 EB-33 2 HOLE JOINING PLATE  1.5"

4329 EB-34 7 HOLE JOINING PLATE 1.5"

4352 EB-71 FRAMEWORLD Joining Plate 1.5"

4341 EB-73 FRAMEWORLD Joining Plate 1.5"

4312 EB-74 FRAMEWORLD Joining Plate 1.5"

4335 EB-76   7 HOLE T JOINING PLATE 1.5"

4370 EB-78 FRAMEWORLD Joining Plate 1.5"

4350 EB-79 FRAMEWORLD Joining Plate 1.5"

800-999-7378
28



80/20 PART # F-W PART # DESCRIPTION IMAGE SERIES

SEARCH BY 80/20 OR FRAME-WORLD PART NUMBER AT  https://www.airlinehyd.com/category/INCH_EXTRUSION/4215

FASTENERS

4355 EB-87 FRAMEWORLD Joining Plate 1.5"

3204 11-205
FRAMEWORLD Heavy Duty Pivot T-Nut 

- 1/4- 
1"

3205 11-206
FRAMEWORLD Heavy Duty Pivot T-Nut 

- 10-3 
1"

3873 11-207
FRAMEWORLD Heavy Duty Pivot T-Nut 

- m6 t 
1"

4140 11-21 FRAMEWORLD Joining Plate 1"

3676 11-211
FRAMEWORLD Economy T-nut(offset 

thread) 
1"

3382 11-215
FRAMEWORLD Economy T-

nut(centered thread 
1"

3675 11-215SS
FRAMEWORLD SS T-nut(centered 

thread) 1/4 
1"

3276 11-216
FRAMEWORLD Economy T-

nut(centered thread 
1"

3275 11-217
FRAMEWORLD Economy T-

nut(centered thread 
1"

29



80/20 PART # F-W PART # DESCRIPTION IMAGE SERIES

SEARCH BY 80/20 OR FRAME-WORLD PART NUMBER AT  https://www.airlinehyd.com/category/INCH_EXTRUSION/4215

8901 11-218B
FRAMEWORLD Blank Con�nuous T-

nut(non-st 
1"

25-1951 11-239 FRAMEWORLD Economy T-nut 1"

3395 11-242 ANCHOR FASTENER   1"

3896 11-242M
FRAMEWORLD Anchor Fastener,metric 

HDW 
1"

3396 11-242P
FRAMEWORLD Anchor Fastener - no 

hardware 
1"

3662 11-242-SS FRAMEWORLD Anchor Fastener,SS bolt 1"

3369 11-243  ANCHOR BUTT FASTENER 1"

25-3369 11-243M FRAMEWORLD Anchor Bu� Fastener 1"

3090 11-248 DOUBLE 1" ANCHOR FASTENER 1"

3094 11-248M
FRAMEWORLD Double Anchor 

Fastener 
1"

800-999-7378
30



80/20 PART # F-W PART # DESCRIPTION IMAGE SERIES

SEARCH BY 80/20 OR FRAME-WORLD PART NUMBER AT  https://www.airlinehyd.com/category/INCH_EXTRUSION/4215

3092 11-249 DOUBLE 2" ANCHOR FASTENER 1"

3096 11-249M
FRAMEWORLD Double Anchor 

Fastener 
1"

3681 11-262
END FASTENER  Requires 1 - Frame 

World 11-233 cap screw.
1"

3183 11-267
SINGLE TAB END FASTENER  Requires 1 

- Frame World 11-233 cap screw.
1"

3351 11-268
FRAMEWORLD Universal Connector 
Requires 2 - Frame World 11-233 cap 

screw.
1"

3313 11-340
FRAMEWORLD Pivot T-nut w/set screw 

- 1/4 
1"

3312 11-341
FRAMEWORLD Pivot T-nut w/set screw 

- 10- 
1"

3280 11-360
FRAMEWORLD Double Economy T-nut 

1/4-20 
1"

3205 11-BLK-206
FRAMEWORLD Black Heavy Duty T-

nut,10-32 
1"

3189 BLF-29A
FRAMEWORLD Black Universal 

Connector 
1.5"

800-999-7378
31



80/20 PART # F-W PART # DESCRIPTION IMAGE SERIES

SEARCH BY 80/20 OR FRAME-WORLD PART NUMBER AT  https://www.airlinehyd.com/category/INCH_EXTRUSION/4215

3203 BLF-55
FRAMEWORLD Black Heavy Duty T-

nut,5/16-1 
1.5"

3359 BLF-62 FRAMEWORLD Black Anchor Fastener 1.5"

3018 EB-50BK FRAMEWORLD LHCS 5/16-18x1" 1.5"

3282 EF-1
FRAMEWORLD Pivot T-Nut w/Rubber 

Bumper 5 
1.5"

3716 EF-10-.75 FRAMEWORLD T-Bolt 5/16-18 thd 1.5"

3720 EF-10-1.0 FRAMEWORLD T-Bolt 5/16-18 thd 1.5"

3283 EF-1A
FRAMEWORLD Pivot T-Nut w/Rubber 

Bumper 1 
1.5"

3284 EF-1B
FRAMEWORLD Pivot T-Nut w/Rubber 

Bumper 1 
1.5"

3842 EF-1C
FRAMEWORLD Pivot T-Nut w/Rubber 

Bumper m 
1.5"

3843 EF-1D
FRAMEWORLD Pivot T-Nut w/Rubber 

Bumper m 
1.5"

800-999-7378
32



80/20 PART # F-W PART # DESCRIPTION IMAGE SERIES

SEARCH BY 80/20 OR FRAME-WORLD PART NUMBER AT  https://www.airlinehyd.com/category/INCH_EXTRUSION/4215

3278 EF-2

FRAME WORLD EF-2, 5/16"-18 
ECONOMY T-NUT Frame World EF-2 

has 5/16-18 thread for use with Frame 
World's 5/16" slot extrusion.

1.5"

3379 EF-29 END FASTENER requires screw 1.5"

3189 EF-29A
 UNIVERSAL CONNECTOR (ZINC 
PLATED STEEL) requires screw

1.5"

3352 EF-29D
FRAMEWORLD Double Universal 

Connector equires screws
1.5"

3286 EF-2A
FRAMEWORLD Economy T-Nut 1/4-20 

thd 
1.5"

3686 EF-2AST
FRAMEWORLD SS Economy T-Nut 1/4-

20 thd 
1.5"

3838 EF-2C FRAMEWORLD Economy T-Nut m8 thd 1.5"

3879 EF-2D FRAMEWORLD Double Economy T-Nut 1.5"

3279 EF-2D-B
FRAMEWORLD Black Zinc Double 

Economy T-N 
1.5"

40-1982 EF-2D-M8
FRAMEWORLD Double Economy T-

Nut,M8x1.25 
1.5"

800-999-7378
33



80/20 PART # F-W PART # DESCRIPTION IMAGE SERIES

SEARCH BY 80/20 OR FRAME-WORLD PART NUMBER AT  https://www.airlinehyd.com/category/INCH_EXTRUSION/4215

3836 EF-2E FRAMEWORLD Economy T-Nut m6 thd 1.5"

3678 EF-2ST
FRAMEWORLD SS Economy T-Nut 5/16-

18 thd 
1.5"

3805 EF-2TRP
FRAMEWORLD Triple Economy T-Nut 

5/16-18 
1.5"

3789 EF-4
FRAMEWORLD Long Economy T-Nut 

5/16-18 th 
1.5"

3286 EF-4A
FRAMEWORLD Long Economy T-Nut 

1/4-20 thd 
1.5"

3789 EF-4-B
FRAMEWORLD Black Zinc Long 

Economy T-Nut 
1.5"

388 EF-4C
FRAMEWORLD Long Economy T-Nut 

m8 thd 
1.5"

3836 EF-4D
FRAMEWORLD Long Economy T-Nut 

m6 thd 
1.5"

13041 EF-5
FRAMEWORLD Pivot T-nut,5/16-

18,w/spring 
1.5"

8900 EF-53B
FRAMEWORLD Blank Con�nuous T-

Nut(Non-St 
1.5"

800-999-7378
34



80/20 PART # F-W PART # DESCRIPTION IMAGE SERIES

SEARCH BY 80/20 OR FRAME-WORLD PART NUMBER AT  https://www.airlinehyd.com/category/INCH_EXTRUSION/4215

3203 EF-55
FRAMEWORLD Heavy Duty T-Nut 5/16-

18 thd 
1.5"

3202 EF-56
FRAMEWORLD Heavy Duty T-Nut 1/4-

20 thd 
1.5"

3201 EF-57
FRAMEWORLD Heavy Duty T-Nut 10-

32 thd 
1.5"

3868 EF-58
FRAMEWORLD Heavy Duty T-Nut m8 

thd 
1.5"

3866 EF-59
FRAMEWORLD Heavy Duty T-Nut m6 

thd 
1.5"

13038 EF-5A
FRAMEWORLD Pivot T-nut,1/4-

20,w/spring l 
1.5"

13036 EF-5C
FRAMEWORLD Pivot T-

nut,M8,w/spring leaf 
1.5"

13033 EF-5E
FRAMEWORLD Pivot T-

nut,M6,w/spring leaf 
1.5"

13030 EF-5F
FRAMEWORLD Pivot T-

nut,M5,w/spring leaf 
1.5"

3370 EF-61  ANCHOR BUTT FASTENER 1.5"

800-999-7378
35



80/20 PART # F-W PART # DESCRIPTION IMAGE SERIES

SEARCH BY 80/20 OR FRAME-WORLD PART NUMBER AT  https://www.airlinehyd.com/category/INCH_EXTRUSION/4215

3360 EF-62
  ANCHOR FASTENER (WITH 

HARDWARE)  
1.5"

3361 EF-62P
FRAMEWORLD Anchor 

Fastener(Without Hardware)
1.5"

3098 EF-63
  DOUBLE SHORT 1.5" ANCHOR 

FASTENER 
1.5"

3100 EF-64  DOUBLE LONG 3" ANCHOR FASTENER  1.5"

3311 EF-65
FRAMEWORLD Pivot T-Nut w/Set 

Screw 5/16- 
1.5"

3310 EF-66
FRAMEWORLD Pivot T-Nut w/Set 

Screw 1/4-2 
1.5"

3309 EF-67
FRAMEWORLD Pivot T-Nut w/Set 

Screw 10-32 
1.5"

3293 EF-9-.75
FRAMEWORLD 5/16-18 Turn Lock T-

Bolt 
1.5"

3917 EF-91
FRAMEWORLD Ball and Spring Pivot T-

Nut 5 
1.5"

3295 EF-9-1.0
FRAMEWORLD 5/16-18 Turn Lock T-

Bolt 
1.5"

800-999-7378
36



80/20 PART # F-W PART # DESCRIPTION IMAGE SERIES

SEARCH BY 80/20 OR FRAME-WORLD PART NUMBER AT  https://www.airlinehyd.com/category/INCH_EXTRUSION/4215

3297 EF-9-1.25
FRAMEWORLD 5/16-18 Turn Lock T-

Bolt 
1.5"

3299 EF-9-1.5
FRAMEWORLD 5/16-18 Turn Lock T-

Bolt 
1.5"

3916 EF-92
FRAMEWORLD Ball and Spring Pivot T-

Nut 1 
1.5"

3915 EF-94
FRAMEWORLD Ball and Spring Pivot T-

Nut m 
1.5"

3914 EF-95
FRAMEWORLD Ball and Spring Pivot T-

Nut m 
1.5"

14161 EF-96
FRAMEWORLD Z-nut,1/4-20 thread for 

5/16" 
1.5"

13182 EF-98
FRAMEWORLD Z-nut,M6 thread for 

5/16" slo 
1.5"

13181 EF-99
FRAMEWORLD Z-nut,M5 thread for 

5/16" slo 
1.5"

13144 EF-9M6-20
FRAMEWORLD m6 Thd Turn Lock T-

Bolt 
1.5"

13145 EF-9M6-25
FRAMEWORLD m6 Thd Turn Lock T-

Bolt 
1.5"

800-999-7378
37



80/20 PART # F-W PART # DESCRIPTION IMAGE SERIES

SEARCH BY 80/20 OR FRAME-WORLD PART NUMBER AT  https://www.airlinehyd.com/category/INCH_EXTRUSION/4215

13146 EF-9M6-30
FRAMEWORLD m6 Thd Turn Lock T-

Bolt 
1.5"

13147 EF-9M6-40
FRAMEWORLD m6 Thd Turn Lock T-

Bolt 
1.5"

3679 EF-SS29
 UNIVERSAL CONNECTOR (STAINLESS 

STEEL) requires screw
1.5"

3189 EF-SS29A
SINGLE TAB END FASTENER requires 

screw
1.5"

3501 11-204 FRAMEWORLD Shoulder Bolt 

3058 11-220
FRAMEWORLD Socket Head Cap Screw 

1/4-20x 

3062 11-221
FRAMEWORLD Socket Head Cap Screw 

1/4-20x 

3067 11-222
FRAMEWORLD Socket Head Cap Screw 

1/4-20 

3064 11-223
FRAMEWORLD Socket Head Cap Screw 

1/4-20x 

3071 11-224
FRAMEWORLD Socket Head Cap Screw 

1/4-20x 

800-999-7378
38



80/20 PART # F-W PART # DESCRIPTION IMAGE SERIES

SEARCH BY 80/20 OR FRAME-WORLD PART NUMBER AT  https://www.airlinehyd.com/category/INCH_EXTRUSION/4215

3072 11-225
FRAMEWORLD Socket Head Cap Screw 

1/4-20x 

3080 11-226
FRAMEWORLD Socket Head Cap Screw 

1/4-20x 

3081 11-228
FRAMEWORLD Socket Head Cap Screw 

1/4-20x 

3059 11-230
FRAMEWORLD Bu�on Head Cap Screw 

1/4-20x 

3061 11-231
FRAMEWORLD Bu�on Head Cap Screw 

1/4-20x 

3063 11-232
FRAMEWORLD Bu�on Head Cap Screw 

1/4-20x 

3065 11-233
FRAMEWORLD Bu�on Head Cap Screw 

1/4-20x 

3258 11-240 FRAMEWORLD 1/4" Hardened Washer 

13-6041 11-240M FRAMEWORLD Washer,m6 

3208 11-241 FRAMEWORLD Hex Nut 1/4-20 thd 

800-999-7378
39



80/20 PART # F-W PART # DESCRIPTION IMAGE SERIES

SEARCH BY 80/20 OR FRAME-WORLD PART NUMBER AT  https://www.airlinehyd.com/category/INCH_EXTRUSION/4215

11-6065 11-241M FRAMEWORLD Hex Nut (M6-1.0) 

11-5065 11-241M5 FRAMEWORLD M5 Hex Nut 

3656 11-241SS FRAMEWORLD SS Hex Nut 

3390 11-350
FRAMEWORLD Bu�on Head Cap Screw 

1/4-20x 

3342 11-351
FRAMEWORLD Bu�on Head Cap Screw 

1/4-20x 

3066 11-352
FRAMEWORLD Bu�on Head Cap Screw 

1/4-20x 

3604 11-352-SS
FRAMEWORLD Bu�on Head Cap Screw 

1/4-20x 

11-6510 11-450-10
FRAMEWORLD Metric Socket Head 

Cap Screw 

11-6512 11-450-12
FRAMEWORLD Metric Socket Head 

Cap Screw 

11-6514 11-450-14
FRAMEWORLD Metric Socket Head 

Cap Screw 

800-999-7378
40



80/20 PART # F-W PART # DESCRIPTION IMAGE SERIES

SEARCH BY 80/20 OR FRAME-WORLD PART NUMBER AT  https://www.airlinehyd.com/category/INCH_EXTRUSION/4215

11-6516 11-450-16
FRAMEWORLD Metric Socket Head 

Cap Screw 

11-6520 11-450-20
FRAMEWORLD Metric Socket Head 

Cap Screw 

11-6525 11-450-25
FRAMEWORLD Metric Socket Head 

Cap Screw 

11-6530 11-450-30
FRAMEWORLD Metric Socket Head 

Cap Screw 

11-6535 11-450-35
FRAMEWORLD Metric Socket Head 

Cap Screw 

19-6512 11-450K-12
FRAMEWORLD Socket Head Zinc 

Plated Cap S 

19-6516 11-450K-16
FRAMEWORLD Socket Head Zinc 

Plated Cap S 

19-6520 11-450K-20
FRAMEWORLD Socket Head Zinc 

Plated Cap S 

19-6525 11-450K-25
FRAMEWORLD Socket Head Zinc 

Plated Cap S 

17-6510 11-450SS-10 FRAMEWORLD SHCS M6x10mm,SS 

800-999-7378
41



80/20 PART # F-W PART # DESCRIPTION IMAGE SERIES

SEARCH BY 80/20 OR FRAME-WORLD PART NUMBER AT  https://www.airlinehyd.com/category/INCH_EXTRUSION/4215

17-6512 11-450SS-12 FRAMEWORLD SHCS M6x12mm,SS 

17-6516 11-450SS-16 FRAMEWORLD SHCS M6x16mm,SS 

17-6520 11-450SS-20 FRAMEWORLD SHCS M6x20mm,SS 

3689 11-452-.5
FRAMEWORLD SS Socket Head Cap 

Screw 1/4- 

3691 11-452-.75
FRAMEWORLD SS Socket Head Cap 

Screw 1/4- 

3671 11-452-1.0
FRAMEWORLD SS Socket Head Cap 

Screw 1/4- 

11-6310 11-454-10
FRAMEWORLD Metric Bu�on Head 

Cap Screw 

11-6312 11-454-12
FRAMEWORLD Metric Bu�on Head 

Cap Screw 

11-6314 11-454-14
FRAMEWORLD Metric Bu�on Head 

Cap Screw 

11-6316 11-454-16
FRAMEWORLD Metric Bu�on Head 

Cap Screw 

800-999-7378
42



80/20 PART # F-W PART # DESCRIPTION IMAGE SERIES

SEARCH BY 80/20 OR FRAME-WORLD PART NUMBER AT  https://www.airlinehyd.com/category/INCH_EXTRUSION/4215

11-6320 11-454-20
FRAMEWORLD Metric Bu�on Head 

Cap Screw 

13-6325 11-454-25
FRAMEWORLD Metric Bu�on Head 

Cap Screw 

19-6312 11-454K-12
FRAMEWORLD Bu�on Head Zinc 

Plated Cap S 

19-6316 11-454K-16
FRAMEWORLD Bu�on Head Zinc 

Plated Cap S 

19-6320 11-454K-20
FRAMEWORLD Bu�on Head Zinc 

Plated Cap S 

19-6325 11-454K-25
FRAMEWORLD Bu�on Head Zinc 

Plated Cap S 

17-6312 11-454SS-12
FRAMEWORLD Bu�on Head SS Cap 

Screw (M6x 

17-6316 11-454SS-16
FRAMEWORLD Bu�on Head SS Cap 

Screw (M6x 

17-6320 11-454SS-20
FRAMEWORLD Bu�on Head SS Cap 

Screw (M6x 

3688 11-456-.38
FRAMEWORLD SS Bu�on Head Cap 

Screw 1/4- 

800-999-7378
43



80/20 PART # F-W PART # DESCRIPTION IMAGE SERIES

SEARCH BY 80/20 OR FRAME-WORLD PART NUMBER AT  https://www.airlinehyd.com/category/INCH_EXTRUSION/4215

3690 11-456-.50
FRAMEWORLD SS bu�on Head Cap 

Screw 1/4- 

3663 11-456-.63
FRAMEWORLD SS Bu�on Head Cap 

Screw 1/4- 

3692 11-456-.75
FRAMEWORLD SS Bu�on Head Cap 

Screw 1/4- 

3106 EF-11-.5
FRAMEWORLD Socket Head Cap 

Screw(5/16-18 

3110 EF-11-.63
FRAMEWORLD Socket Head Cap 

Screw(5/16-18 

3112 EF-11-.75
FRAMEWORLD Socket Head Cap 

Screw(5/16-18 

3119 EF-11-.875
FRAMEWORLD Socket Head Cap 

Screw(5/16-18 

3122 EF-11-1.0
FRAMEWORLD Socket Head Cap 

Screw(5/16-18 

65-3123 EF-11-1.25
FRAMEWORLD Socket Head Cap 

Screw(5/16-18 

3127 EF-11-1.5
FRAMEWORLD Socket Head Cap 

Screw(5/16-18 

800-999-7378
44



80/20 PART # F-W PART # DESCRIPTION IMAGE SERIES

SEARCH BY 80/20 OR FRAME-WORLD PART NUMBER AT  https://www.airlinehyd.com/category/INCH_EXTRUSION/4215

3129 EF-11-1.75
FRAMEWORLD Socket Head Cap 

Screw(5/16-18 

3130 EF-11-2.0
FRAMEWORLD Socket Head Cap 

Screw(5/16-18 

3132 EF-11-2.5
FRAMEWORLD Socket Head Cap 

Screw(5/16-18 

3133 EF-11-3.0
FRAMEWORLD Socket Head Cap 

Screw(5/16-18 

3958 EF-11-3.5
FRAMEWORLD Socket Head Cap 

Screw(5/16-18 

3950 EF-11K-.50
FRAMEWORLD Socket Head Zinc 

Plated Cap S 

3950 EF-11K-.63
FRAMEWORLD Socket Head Zinc 

Plated Cap S 

3951 EF-11K-.75
FRAMEWORLD Socket Head Zinc 

Plated Cap S 

3952 EF-11K-1.00
FRAMEWORLD Socket Head Zinc 

Plated Cap S 

3953 EF-11K-1.25
FRAMEWORLD Socket Head Zinc 

Plated Cap S 

800-999-7378
45



80/20 PART # F-W PART # DESCRIPTION IMAGE SERIES

SEARCH BY 80/20 OR FRAME-WORLD PART NUMBER AT  https://www.airlinehyd.com/category/INCH_EXTRUSION/4215

3954 EF-11K-1.50
FRAMEWORLD Socket Head Zinc 

Plated Cap S 

11-8512 EF-11M-12
FRAMEWORLD Socket Head Cap 

Screw(m8 thd) 

11-8516 EF-11M-16
FRAMEWORLD Socket Head Cap 

Screw(m8 thd) 

11-8520 EF-11M-20
FRAMEWORLD Socket Head Cap 

Screw(m8 thd) 

11-8525 EF-11M-25
FRAMEWORLD Socket Head Cap 

Screw(m8 thd) 

11-8530 EF-11M-30
FRAMEWORLD Socket Head Cap 

Screw(m8 thd) 

11-8535 EF-11M-35
FRAMEWORLD Socket Head Cap 

Screw(m8 thd) 

13-3955 EF-11M-45
FRAMEWORLD Socket Head Cap 

Screw(m8 thd) 

3810 EF-11MK-12
FRAMEWORLD Socket Head Zinc 

Plated Cap S 

3812 EF-11MK-16
FRAMEWORLD Socket Head Zinc 

Plated Cap S 

800-999-7378
46



80/20 PART # F-W PART # DESCRIPTION IMAGE SERIES

SEARCH BY 80/20 OR FRAME-WORLD PART NUMBER AT  https://www.airlinehyd.com/category/INCH_EXTRUSION/4215

3814 EF-11MK-20
FRAMEWORLD Socket Head Zinc 

Plated Cap S 

3818 EF-11MK-25
FRAMEWORLD Socket Head Zinc 

Plated Cap S 

3822 EF-11MK-30
FRAMEWORLD Socket Head Zinc 

Plated Cap S 

17-8516 EF-11M-SS-16
FRAMEWORLD Socket Head Cap 

Screw(m8 thd) 

17-8520 EF-11M-SS-20
FRAMEWORLD Socket Head Cap 

Screw(m8 thd) 

17-8525 EF-11M-SS-25
FRAMEWORLD Socket Head Cap 

Screw(m8 thd) 

17-8530 EF-11M-SS-30
FRAMEWORLD Socket Head Cap 

Screw(m8 thd) 

17-8535 EF-11M-SS-35
FRAMEWORLD Socket Head Cap 

Screw(m8 thd) 

17-8540 EF-11M-SS-40
FRAMEWORLD Socket Head Cap 

Screw(m8 thd) 

3610 EF-11SS-.5
FRAMEWORLD SS Socket Head Cap 

Screw(5/16 

800-999-7378
47



80/20 PART # F-W PART # DESCRIPTION IMAGE SERIES

SEARCH BY 80/20 OR FRAME-WORLD PART NUMBER AT  https://www.airlinehyd.com/category/INCH_EXTRUSION/4215

3612 EF-11SS-.63
FRAMEWORLD SS Socket Head Cap 

Screw(5/16 

3615 EF-11SS-.75
FRAMEWORLD SS Socket Head Cap 

Screw(5/16 

3619 EF-11SS-.875
FRAMEWORLD SS Socket Head Cap 

Screw(5/16 

3622 EF-11SS-1.0
FRAMEWORLD SS Socket Head Cap 

Screw(5/16 

3627 EF-11SS-1.25
FRAMEWORLD SS Socket Head Cap 

Screw(5/16 

3104 EF-12-.5
FRAMEWORLD Bu�on Head Cap 

Screw(5/16-18 

3111 EF-12-.63   5/16"-18 X .63" BHCS 

3114 EF-12-.75
FRAMEWORLD Bu�on Head Cap 

Screw(5/16-18 

3117 EF-12-.875
FRAMEWORLD Bu�on Head Cap 

Screw(5/16-18 

3118 EF-12-1.0
FRAMEWORLD Bu�on Head Cap 

Screw(5/16-18 

800-999-7378
48



80/20 PART # F-W PART # DESCRIPTION IMAGE SERIES

SEARCH BY 80/20 OR FRAME-WORLD PART NUMBER AT  https://www.airlinehyd.com/category/INCH_EXTRUSION/4215

3340 EF-12F-.5
FRAMEWORLD Flanged Bu�on Head 

Cap Screw 

3330 EF-12F-.63
FRAMEWORLD Flanged Bu�on Head 

Cap Screw 

133-8416 EF-12FM-16
FRAMEWORLD Flanged Bu�on Head 

Cap Screw 

13-8425 EF-12FM-25
FRAMEWORLD Flanged Bu�on Head 

Cap Screw 

17-8416 EF-12FM-SS-16
FRAMEWORLD SS Flanged Bu�on Head 

Cap Sc 

17-8425 EF-12FM-SS-25
FRAMEWORLD SS Flanged Bu�on Head 

Cap Sc 

3606 EF-12F-SS-.5
FRAMEWORLD Flanged Bu�on Head 

Cap Screw 

3607 EF-12F-SS-.63
FRAMEWORLD Flanged Bu�on Head 

Cap Screw 

3940 EF-12K-.50
FRAMEWORLD Bu�on Head Zinc 

Plated Cap S 

3941 EF-12K-.75
FRAMEWORLD Bu�on Head Zinc 

Plated Cap S 

800-999-7378
49



80/20 PART # F-W PART # DESCRIPTION IMAGE SERIES

SEARCH BY 80/20 OR FRAME-WORLD PART NUMBER AT  https://www.airlinehyd.com/category/INCH_EXTRUSION/4215

3942 EF-12K-1.00
FRAMEWORLD Bu�on Head Zinc 

Plated Cap S 

3943 EF-12K-1.25
FRAMEWORLD Bu�on Head Zinc 

Plated Cap S 

3944 EF-12K-1.50
FRAMEWORLD Bu�on Head Zinc 

Plated Cap S 

11-8312 EF-12M-12
FRAMEWORLD Bu�on Head Cap Screw 

m8 thd 

11-8316 EF-12M-16
FRAMEWORLD Bu�on Head Cap Screw 

m8 thd 

11-8320 EF-12M-20
FRAMEWORLD Bu�on Head Cap Screw 

m8 thd 

11-8325 EF-12M-25
FRAMEWORLD Bu�on Head Cap Screw 

m8 thd 

3811 EF-12MK-12
FRAMEWORLD Bu�on Head Zinc 

Plated Cap S 

3813 EF-12MK-16
FRAMEWORLD Bu�on Head Zinc 

Plated Cap S 

3815 EF-12MK-20
FRAMEWORLD Bu�on Head Zinc 

Plated Cap S 

800-999-7378
50



80/20 PART # F-W PART # DESCRIPTION IMAGE SERIES

SEARCH BY 80/20 OR FRAME-WORLD PART NUMBER AT  https://www.airlinehyd.com/category/INCH_EXTRUSION/4215

3819 EF-12MK-25
FRAMEWORLD Bu�on Head Zinc 

Plated Cap S 

17-8312 EF-12M-SS-12
FRAMEWORLD Bu�on Head Cap Screw 

m8 thd, 

17-8316 EF-12M-SS-16
FRAMEWORLD Bu�on Head Cap Screw 

m8 thd, 

17-8320 EF-12M-SS-20
FRAMEWORLD Bu�on Head Cap Screw 

m8 thd, 

17-8325 EF-12M-SS-25
FRAMEWORLD Bu�on Head Cap Screw 

m8 thd, 

3609 EF-12SS-.5
FRAMEWORLD SS Bu�on Head Cap 

Screw 5/16 

3611 EF-12SS-.63
FRAMEWORLD SS Bu�on Head Cap 

Screw 5/16 

3614 EF-12SS-.75
FRAMEWORLD SS Bu�on Head Cap 

Screw 5/16 

3617 EF-12SS-.875
FRAMEWORLD SS Bu�on Head Cap 

Screw 5/16 

3621 EF-12SS-1.0
FRAMEWORLD SS Bu�on Head Cap 

Screw 5/16 

800-999-7378
51



80/20 PART # F-W PART # DESCRIPTION IMAGE SERIES

SEARCH BY 80/20 OR FRAME-WORLD PART NUMBER AT  https://www.airlinehyd.com/category/INCH_EXTRUSION/4215

3260 EF-13A
FRAMEWORLD 5/16" 

Washer(Hardened Steel) 

3214 EF-13C FRAMEWORLD 5/16-18 Hex Nut 

13-8065 EF-13CM FRAMEWORLD m8 Hex Nut 

3657 EF-13CS FRAMEWORLD 5/16-18 Hex Nut,SS 

25-3502 EF-13N
FRAMEWORLD Washer,5/16",Plas�c 

Nylon 

3260 EF-13S FRAMEWORLD Washer (Zinc Plated) 

3011 EF-156-.50
FRAMEWORLD Flat Head Socket Cap 

Screw (5 

3410 EF-156-.63
FRAMEWORLD Flat Head Socket Cap 

Screw (5 

3411 EF-156-.75
FRAMEWORLD Flat Head Socket Cap 

Screw (5 

3400 EF-157-.5
FRAMEWORLD Flat Head Socket Cap 

Screw (1 

800-999-7378
52



80/20 PART # F-W PART # DESCRIPTION IMAGE SERIES

SEARCH BY 80/20 OR FRAME-WORLD PART NUMBER AT  https://www.airlinehyd.com/category/INCH_EXTRUSION/4215

3405 EF-157-.63
FRAMEWORLD Flat Head Socket Cap 

Screw (1 

3406 EF-157-.75
FRAMEWORLD Flat Head Socket Cap 

Screw (1 

3645 EF-157SS-.50
FRAMEWORLD Flat Head Socket Cap 

Screw SS 

3677 EF-157SS-.63
FRAMEWORLD Flat Head Socket Cap 

Screw SS 

3022 EF-158-.50
FRAMEWORLD Flat Head Socket Cap 

Screw (# 

3500 EF-46 FRAMEWORLD Shoulder Bolt 

3659 EF-SS13A FRAMEWORLD SS Washer 

13-6712 FM6-12 FRAMEWORLD FHCS,m6x1x12mm 

17-6712 FM6-12-SS FRAMEWORLD FHCS,m6x1x12mm,SS 

11-6714 FM6-14 FRAMEWORLD FHCS,m6x1x14mm 

800-999-7378
53



80/20 PART # F-W PART # DESCRIPTION IMAGE SERIES

SEARCH BY 80/20 OR FRAME-WORLD PART NUMBER AT  https://www.airlinehyd.com/category/INCH_EXTRUSION/4215

11-6716 FM6-16 FRAMEWORLD FHCS,m6x1x16mm 

11-6720 FM6-20 FRAMEWORLD FHCS,m6x1x20mm 

11-8716 FM8-16 FRAMEWORLD FHCS,m8x1.25x16mm 

11-8720 FM8-20 FRAMEWORLD FHCS,m8x1.25x20mm 

PANELS AND DOORS

2086 11-252 FRAMEWORLD Aluminum Hinge 1"

2835 11-253
FRAMEWORLD Steel Li�-Off Hinge(le� 

han 
1"

2841 11-254
FRAMEWORLD Steel Li�-Off 

Hinge(right ha 
1"

2081 11-255
FRAMEWORLD Plas�c Hinge(adjustable 

fric 
1"

2427 11-260
FRAMEWORLD Panel Moun�ng 

Bracket 
1"

25-2427 11-260-M6
FRAMEWORLD Panel Moun�ng 

Bracket,M6 
1"

54



80/20 PART # F-W PART # DESCRIPTION IMAGE SERIES

SEARCH BY 80/20 OR FRAME-WORLD PART NUMBER AT  https://www.airlinehyd.com/category/INCH_EXTRUSION/4215

2134 11-264
FRAMEWORLD Single Door Mechanical 

Latch 
1"

2053 11-272 FRAMEWORLD Deluxe Dead Bolt Latch 1"

2134 11-282
FRAMEWORLD Mechanical Latch 1/4" 

slots 
1"

2134 11-283
FRAMEWORLD Transi�on Mechanincal 

Latch 
1"

2211 11-32
FRAMEWORLD(6FT) Upper Door 

Slide(3 track 
1"

2221 11-33
FRAMEWORLD(6FT) Lower Door 

Slide(3 track 
1"

2186 11-35 FRAMEWORLD Adjustable Leg 1"

2066 11-400
FRAMEWORLD Heavy Duty Hinge 

Assembly 
1"

25-2066 11-400-M6
FRAMEWORLD Heavy Duty Hinge 

Assembly,met 
1"

2065 11-402
FRAMEWORLD Le� Hand Li�-Off 

Hinge-one 
1"

800-999-7378
55



80/20 PART # F-W PART # DESCRIPTION IMAGE SERIES

SEARCH BY 80/20 OR FRAME-WORLD PART NUMBER AT  https://www.airlinehyd.com/category/INCH_EXTRUSION/4215

2064 11-403
FRAMEWORLD Right Hand Li�-Off 

Hinge-one 
1"

2066-Black 11-BLK-400 FRAMEWORLD Black Heavy Duty Hinge 1"

2068 EF-115
FRAMEWORLD Bi-Fold Door 

Pad(1.5x1.0) 
1"

2106-Black BLB-130
FRAMEWORLD Black Heavy Duty Hinge 

Assemb 
1.5"

2434-Black BLB-62 FRAMEWORLD Black Panel Bracket 1.5"

2430-Black BLB-80
FRAMEWORLD Black Panel Moun�ng 

Angle 
1.5"

2106 EB-130
FRAMEWORLD Heavy Duty Hinge 

Assembly 
1.5"

2105 EB-132
FRAMEWORLD Le� Hand Li�-off Hinge 

Asse 
1.5"

2104 EB-133
FRAMEWORLD Right Hand Li�-off 

Hinge Ass 
1.5"

2106 EB-140
FRAMEWORLD Heavy Duty Transi�on 

Hinge A 
1.5"

800-999-7378
56



80/20 PART # F-W PART # DESCRIPTION IMAGE SERIES

SEARCH BY 80/20 OR FRAME-WORLD PART NUMBER AT  https://www.airlinehyd.com/category/INCH_EXTRUSION/4215

2105 EB-142
FRAMEWORLD Le� Hand Transi�on 

Li�-off 
1.5"

2104 EB-143
FRAMEWORLD Right Hand Transi�on 

Li�-of 
1.5"

2436 EB-39A FRAMEWORLD Wire Mesh Bracket 1.5"

2435 EB-39B FRAMEWORLD Wire Mesh Bracket 1.5"

2428 EB-5 FRAMEWORLD Panel Moun�ng Angle 1.5"

2434 EB-62 FRAMEWORLD Panel Bracket 1.5"

2463 EB-63 FRAMEWORLD Wire Mesh Bracket 1.5"

2518 EB-64
FRAMEWORLD Wire Mesh 

Bracket,Double 
1.5"

2430 EB-80 FRAMEWORLD Panel Moun�ng Angle 1.5"

2068 EF-110
FRAMEWORLD Bi-Fold Door 

Pad(1.5x1.5) 
1.5"

800-999-7378
57



80/20 PART # F-W PART # DESCRIPTION IMAGE SERIES

SEARCH BY 80/20 OR FRAME-WORLD PART NUMBER AT  https://www.airlinehyd.com/category/INCH_EXTRUSION/4215

2051 EF-111 FRAMEWORLD Bi-Fold Door Pad 1.5"

2051 EF-112
FRAMEWORLD Bi-Fold Door Pad(top 

only) 
1.5"

2053 EF-170 FRAMEWORLD Deluxe Dead Bolt Latch 1.5"

2210 EF-17-3
FRAMEWORLD(6FT) Door Slide(3 

Track) 5/16 
1.5"

2220 EF-18-3
FRAMEWORLD(6FT) Door Slide(3 

Track) 5/16 
1.5"

2080 EF-20
FRAMEWORLD Plas�c Hinge(Adjustable 

Fric 
1.5"

2085 EF-21 FRAMEWORLD Aluminum Hinge 1.5"

2836 EF-21LH
FRAMEWORLD Steel Li�-Off Hinge(le� 

han 
1.5"

2842 EF-21RH
FRAMEWORLD Steel Li�-Off 

Hinge(Right Ha 
1.5"

2134 EF-24 FRAMEWORLD Mechanical Door Latch 1.5"

800-999-7378
58



80/20 PART # F-W PART # DESCRIPTION IMAGE SERIES

SEARCH BY 80/20 OR FRAME-WORLD PART NUMBER AT  https://www.airlinehyd.com/category/INCH_EXTRUSION/4215

2425 EF-25B
FRAMEWORLD Panel Moun�ng 

Bracket 
1.5"

40-2425 EF-25-M8
FRAMEWORLD Panel Moun�ng 

Bracket,M8 thr 
1.5"

2823 EF-45B
 T-SLOT COVER/PANEL GASKET 

(BLACK)  
1.5"

2824 EF-45G  T-SLOT COVER/PANEL GASKET (GREY)  1.5"

2822 EF-45Y
 T-SLOT COVER/PANEL GASKET 

(YELLOW)  
1.5"

2327 EF-71
FRAMEWORLD Hidden Li�-Off 

Hinge,Aluminu 
1.5"

4489 EF-73
FRAMEWORLD Die Cast Zinc Hinge 

w/Hardwar 
1.5"

4488 EF-74
FRAMEWORLD Die Cast Zinc Locking 

Hinge w 
1.5"

12252 EF-76 FRAMEWORLD HD Plas�c Hinge 1.5"

6897 EF-77 L=60
FRAMEWORLD Blank Hanging Slider 

Track 5/ 
1.5"

800-999-7378
59



80/20 PART # F-W PART # DESCRIPTION IMAGE SERIES

SEARCH BY 80/20 OR FRAME-WORLD PART NUMBER AT  https://www.airlinehyd.com/category/INCH_EXTRUSION/4215

6898 EF-79
FRAMEWORLD Hanger Slider Track 

5/16" Slo 
1.5"

2210 EX-173 L=144.00
FRAMEWORLD Alum.Upper Door Track 

(Triple 
1.5"

2210 EX-173 L=72.00
FRAMEWORLD Alum.Upper Door Track 

(Triple 
1.5"

2220 EX-183 L=144.00
FRAMEWORLD Alum.Lower Door Track 

(Triple 
1.5"

2220 EX-183 L=72.00
FRAMEWORLD Alum.Lower Door Track 

(Triple 
1.5"

2062 11-256 FRAMEWORLD Plas�c Handle 

2084 11-280
FRAMEWORLD Aluminum Transi�on 

Hinge 

12147 11-353
FRAMEWORLD Door 

Handle,Plas�c,Slam(w/HD 

12146 11-354
FRAMEWORLD Door 

Handle,Plas�c,Slam with 

2609 EB-160-FS
FRAMEWORLD Polycarbonate 

1/4"Clear 4'x8' 

800-999-7378
60



80/20 PART # F-W PART # DESCRIPTION IMAGE SERIES

SEARCH BY 80/20 OR FRAME-WORLD PART NUMBER AT  https://www.airlinehyd.com/category/INCH_EXTRUSION/4215

2611 EB-161-FS
FRAMEWORLD Polycarbonate 

1/4"Bronze 4'x8 

2610 EB-165-FS
FRAMEWORLD Polycarbonate 

3/16"Clear 4'x8 

2612 EB-166-FS
FRAMEWORLD Polycarbonate 

3/16"Bronze 4'x 

2601 EB-170-FS
FRAMEWORLD Acrylic 1/4"Clear 

Panel,4'x8' 

2602 EB-175-FS
FRAMEWORLD Acrylic 3/16"Clear 

Panel,4'x8 

2613 EB-180-FS
FRAMEWORLD ABS-Haircell 1/4"Black 

Panel, 

2642 EB-197-FS
FRAMEWORLD Polycarb 1/4"Abrasion-

Resista 

2464 EB-38-1/2-FS
FRAMEWORLD Wire Mesh (Black) 

1/2"4X8 SHE 

2461 EB-38-1/2Y-FS
FRAMEWORLD Wire Mesh (Yellow) 

1/2"4X8 SH 

2479 EB-38-1-FS
FRAMEWORLD Wire Mesh 

(Black),1",4'X8' SH 

800-999-7378
61



80/20 PART # F-W PART # DESCRIPTION IMAGE SERIES

SEARCH BY 80/20 OR FRAME-WORLD PART NUMBER AT  https://www.airlinehyd.com/category/INCH_EXTRUSION/4215

2477 EB-38-1GR-FS
FRAMEWORLD Wire Mesh 

(Grey),1"4X8 SHEET 

2471 EB-38-1Y-FS
FRAMEWORLD Wire Mesh (Yellow) 

1"4X8 SHEE 

2429 EF-140 L=144
FRAMEWORLD S�ffener For Plas�c 

Panel 

2424 EF-141 L=144
FRAMEWORLD S�ffener for Plas�c 

Panel - 

2061 EF-15A FRAMEWORLD Plas�c Handle 

2060 EF-15C FRAMEWORLD Plas�c Handle 

2070 EF-16 FRAMEWORLD Aluminum Handle 

12145 EF-184-L FRAMEWORLD Slam Latch,with Lock 

2090 EF-22
FRAMEWORLD Magne�c Door Latch 

Assembly 

2052 EF-41A
FRAMEWORLD Chrome Door 

Handle(Non-Lockin 

800-999-7378
62



80/20 PART # F-W PART # DESCRIPTION IMAGE SERIES

SEARCH BY 80/20 OR FRAME-WORLD PART NUMBER AT  https://www.airlinehyd.com/category/INCH_EXTRUSION/4215

ACCESSORIES

2052 EF-41C
FRAMEWORLD Chrome Door 

Handle(Inside Han 

4025 11-10 FRAMEWORLD Adjustable Corner Post 1"

2159 11-100
FRAMEWORLD Pressure Manifold Plate 

- 3/8 
1"

2439 11-101
FRAMEWORLD Pressure Manifold Plate 

- 1/8 
1"

4185 11-105
FRAMEWORLD Pivo�ng Post Arm 

w/Bushing 
1"

4185 11-11
FRAMEWORLD Adjustable Corner Post 

Arm 
1"

2114 11-245  GRAY T-SLOT COVER 1"

2113 11-246  BLACK T-SLOT COVER 1"

2112 11-247  YELLOW T-SLOT COVER 1"

2015 11-250 1" X 1" END CAP 1"

63



80/20 PART # F-W PART # DESCRIPTION IMAGE SERIES

SEARCH BY 80/20 OR FRAME-WORLD PART NUMBER AT  https://www.airlinehyd.com/category/INCH_EXTRUSION/4215

3272 11-251 FRAMEWORLD Push Lock Fastener 1"

2025 11-257 1" X 2" END CAP 1"

2028 11-258 2" X 2" END CAP 1"

2026 11-259 FRAMEWORLD Plas�c End Plate 1"

2022 11-277 1" QUARTER ROUND END CAP 1"

6700 11-302 L=60
FRAMEWORLD Blank Bearing Pad 

UHMW 
1"

2067 11-310
FRAMEWORLD Bi-fold Door 

Pad(1.0"x1.0") 
1"

5050 11-501
FRAMEWORLD Single Sha� Base 

w/Locking 5 
1"

5125 11-503
FRAMEWORLD Double Sha� Base 

w/Locking 5 
1"

5415 11-505
FRAMEWORLD Single Sha� Moun�ng 

Base w/ 
1"

800-999-7378
64



80/20 PART # F-W PART # DESCRIPTION IMAGE SERIES

SEARCH BY 80/20 OR FRAME-WORLD PART NUMBER AT  https://www.airlinehyd.com/category/INCH_EXTRUSION/4215

5845 11-509
FRAMEWORLD Double Sha� Moun�ng 

Block w 
1"

5910 11-513
FRAMEWORLD Single Horizontal Base 

w/Lock 
1"

4177 11-9 FRAMEWORLD Adjustable Corner Post 1"

6715 11-91
FRAMEWORLD Single Mount Linear 

Bearing 
1"

6726 11-92
FRAMEWORLD Double Mount Linear 

Bearing 
1"

6726 11-92LH
FRAMEWORLD Double Mount Linear 

Bearing w 
1"

6725 11-93
FRAMEWORLD Single Mount Linear 

Bearing 
1"

6723 11-94
FRAMEWORLD Single Mount Linear 

Bearing 
1"

6724 11-95
FRAMEWORLD Double Mount Linear 

Bearing 
1"

4119-black 11-BLK-1 FRAMEWORLD Black Corner Angle 1"

800-999-7378
65



80/20 PART # F-W PART # DESCRIPTION IMAGE SERIES

SEARCH BY 80/20 OR FRAME-WORLD PART NUMBER AT  https://www.airlinehyd.com/category/INCH_EXTRUSION/4215

4172 11-107
FRAMEWORLD Pivo�ng Post Angle 

w/Bushing 
1.5"

4177 11-108 FRAMEWORLD Pivo�ng Corner Post 1.5"

4181 11-109 FRAMEWORLD Pivo�ng Corner Post 1.5"

4396-Black BLB-48 FRAMEWORLD Black Adj.Arm Post 1.5"

4385-Black BLB-65
FRAMEWORLD Black Pivot Post Arm 

w/Bushin 
1.5"

14017 EB-13
FRAMEWORLD Adjustable Joint 

Connector 
1.5"

14017 EB-13P FRAMEWORLD Pivo�ng Hinge 1.5"

5100 EB-201
FRAMEWORLD Single Sha� Base 

w/Locking 5 
1.5"

5150 EB-203
FRAMEWORLD Double Sha� Base 

w/Locking 5 
1.5"

5425 EB-205
FRAMEWORLD Single Sha� Moun�ng 

Plate w 
1.5"

800-999-7378
66



80/20 PART # F-W PART # DESCRIPTION IMAGE SERIES

SEARCH BY 80/20 OR FRAME-WORLD PART NUMBER AT  https://www.airlinehyd.com/category/INCH_EXTRUSION/4215

5340 EB-208
FRAMEWORLD Cross Clamp  w/Locking 

Handle 
1.5"

5880 EB-215
FRAMEWORLD Single Horizontal Base 

w/Lock 
1.5"

5920 EB-217
FRAMEWORLD Single Horizontal Base 

w/Lock 
1.5"

5036 EB-218-BCP FRAMEWORLD Black Cap for 1" Sha�s 1.5"

5005 EB-219 L=71
FRAMEWORLD Stanchion Sha�s 

(Polished St 
1.5"

2755 EB-221
FRAMEWORLD Roller Wheel Bracket 

Assembly 
1.5"

2758 EB-221-3
FRAMEWORLD Roller Wheel Bracket 

Assembly 
1.5"

4387 EB-46 FRAMEWORLD Adjustable Corner Post 1.5"

4386 EB-47 FRAMEWORLD Adjustable Corner Post 1.5"

4396 EB-48 FRAMEWORLD Adjustable Corner Post 1.5"

800-999-7378
67



80/20 PART # F-W PART # DESCRIPTION IMAGE SERIES

SEARCH BY 80/20 OR FRAME-WORLD PART NUMBER AT  https://www.airlinehyd.com/category/INCH_EXTRUSION/4215

4385 EB-65
FRAMEWORLD Pivo�ng Post Arm 

w/Bushing 
1.5"

4349 EB-66 FRAMEWORLD Adjustable Post Angle 1.5"

4343 EB-67
FRAMEWORLD Pivo�ng Post Angle 

w/Bushing 
1.5"

4377 EB-68 FRAMEWORLD Pivo�ng Corner Post 1.5"

4381 EB-69 FRAMEWORLD Pivo�ng Corner Post 1.5"

6815 EB-91
FRAMEWORLD Single Mount Linear 

Bearing 
1.5"

6826 EB-92
FRAMEWORLD Double Mount Linear 

Bearing 
1.5"

6825 EB-93
FRAMEWORLD Single Mount Linear 

Bearing 
1.5"

6823 EB-94
FRAMEWORLD Single Mount Linear 

Bearing 
1.5"

6824 EB-95
FRAMEWORLD Double Mount Linear 

Bearing 
1.5"

800-999-7378
68



80/20 PART # F-W PART # DESCRIPTION IMAGE SERIES

SEARCH BY 80/20 OR FRAME-WORLD PART NUMBER AT  https://www.airlinehyd.com/category/INCH_EXTRUSION/4215

12316 EF-103 FRAMEWORLD Cable Mount Block 1.5"

36659 EF-14 FRAMEWORLD Push Lock Fastener 1.5"

2100 EF-146
FRAMEWORLD Tool Hanger without 

Snap Hook 
1.5"

2108 & 2100 EF-146A
FRAMEWORLD Tool Hanger with Snap 

Hook 
1.5"

12167 EF-150
FRAMEWORLD Conveyor Roller 

Moun�ng Bloc 
1.5"

2030 EF-19-A  1.5" X 1.5" END CAP  1.5"

2045 EF-19-B   1.5" X 3" END CAP  1.5"

2050 EF-19-C   EF-19-C, 3" X 3" END CAP  1.5"

2035 EF-19-F   PLASTIC END PLATE (1.5" W/EX-8)  1.5"

2046 EF-19-J
FRAMEWORLD Plas�c End 

Plate(1.5"x4.5") 
1.5"

800-999-7378
69



80/20 PART # F-W PART # DESCRIPTION IMAGE SERIES

SEARCH BY 80/20 OR FRAME-WORLD PART NUMBER AT  https://www.airlinehyd.com/category/INCH_EXTRUSION/4215

2119 EF-23A
FRAMEWORLD(6FT) T-Slot Cover(Clear 

Anodi 
1.5"

2113 EF-23B
FRAMEWORLD(6FT) T-Slot Cover(Black 

Rigid 
1.5"

2114 EF-23G
FRAMEWORLD(6FT) T-Slot Cover(Gray 

Rigid 
1.5"

2112 EF-23Y
FRAMEWORLD(6FT) T-Slot 

Cover(Yellow Rigi 
1.5"

6847 EF-32-2
FRAMEWORLD Adjustable Locking 

Handle(Mal 
1.5"

2796 EF-33-1
FRAMEWORLD Adjustable Locking 

Handle(Fem 
1.5"

2797 EF-33-2
FRAMEWORLD Adjustable Locking 

Handle(Fem 
1.5"

6892 EF-34A
FRAMEWORLD Bearing Block(Plas�c) 

L=1.50 
1.5"

6792 EF-34B
FRAMEWORLD Bearing Block(Plas�c) 

L=1.0 
1.5"

6590 EF-37A FRAMEWORLD Plas�c Slider L=1.50 1.5"

800-999-7378
70



80/20 PART # F-W PART # DESCRIPTION IMAGE SERIES

SEARCH BY 80/20 OR FRAME-WORLD PART NUMBER AT  https://www.airlinehyd.com/category/INCH_EXTRUSION/4215

6490 EF-37B FRAMEWORLD Plas�c Slider L=1.0 1.5"

6810 x 120 EF-39 L=120
FRAMEWORLD Blank Bearing Pad 

UHMW 
1.5"

6810 x 60 EF-39 L=60
FRAMEWORLD Blank Bearing Pad 

UHMW 
1.5"

2150 PM-2
FRAMEWORLD Pneuma�c Manifold 

End Plate 
1.5"

2340 PM-2B
FRAMEWORLD Pneuma�c Manifold 

End Plate 
1.5"

2160 PM-3
FRAMEWORLD Pneuma�c Manifold 

End Plate 
1.5"

2440 PM-32
FRAMEWORLD Pressure Manifold Plate 

-1/4 
1.5"

3250 PM-3B
FRAMEWORLD Pneuma�c Manifold 

End Plate 
1.5"

2281 11-266 FRAMEWORLD T-Slot Roller 

2502 EF-42A
FRAMEWORLD Single Tubing 

clamp(3/8") 

800-999-7378
71



80/20 PART # F-W PART # DESCRIPTION IMAGE SERIES

SEARCH BY 80/20 OR FRAME-WORLD PART NUMBER AT  https://www.airlinehyd.com/category/INCH_EXTRUSION/4215

FLOOR TO FRAME

2503 EF-42B
FRAMEWORLD Single Tubing 

Clamp(1/2") 

2504 EF-42C
FRAMEWORLD Single Tubing 

Clamp(3/4") 

2505 EF-42D FRAMEWORLD Single Tubing Clamp(1") 

2508 EF-43A
FRAMEWORLD Double Tubing 

Clamp(3/8") 

2509 EF-43B
FRAMEWORLD Double Tubing Clamp( 

1/2") 

2510 EF-43C
FRAMEWORLD Double Tubing 

Clamp(3/4") 

2511 EF-43D
FRAMEWORLD Double Tubing 

Clamp(1") 

2193 11-36 FRAMEWORLD Adjustable Leg 1"

2129 11-45A
FRAMEWORLD Leveling Plate 3/8-16 

UNC thr 
1"

2361 11-45B
FRAMEWORLD Leveling Plate 1/2-13 

UNC Thr 
1"

72



80/20 PART # F-W PART # DESCRIPTION IMAGE SERIES

SEARCH BY 80/20 OR FRAME-WORLD PART NUMBER AT  https://www.airlinehyd.com/category/INCH_EXTRUSION/4215

2128 11-45C
FRAMEWORLD Leveling Plate 1/4-20 

UNC Thr 
1"

2124 11-45D
FRAMEWORLD Leveling Plate 5/16-18 

UNC Th 
1"

2131 11-46A
FRAMEWORLD Leveling Plate 3/8-16 

UNC Thr 
1"

2132 11-46B
FRAMEWORLD Leveling Plate 1/2-13 

UNC Thr 
1"

2169 11-47A
FRAMEWORLD Leveling Anchor Plate 

3/8-16 
1"

2171 11-47B
FRAMEWORLD Leveling Anchor Plate 

1/2-13 
1"

2168 11-48A
FRAMEWORLD Leveling Anchor Plate 

3/8-16 
1"

2175 11-48B
FRAMEWORLD Leveling Anchor Plate 

1/2-13 
1"

2142 11-49A
FRAMEWORLD Leveling Plate 3/8-16 

UNC Tap 
1"

2363 11-49B
FRAMEWORLD Leveling Plate 1/2-13 

UNC Tap 
1"

800-999-7378
73



80/20 PART # F-W PART # DESCRIPTION IMAGE SERIES

SEARCH BY 80/20 OR FRAME-WORLD PART NUMBER AT  https://www.airlinehyd.com/category/INCH_EXTRUSION/4215

2418 11-50 FRAMEWORLD Caster Moun�ng Plate 1"

2419 11-55 FRAMEWORLD Caster Moun�ng Plate 1"

2166 11-66 FRAMEWORLD Leveling Anchor Plate 1"

2414 11-73
FRAMEWORLD Economy Aluminum 

Floor Mount 
1"

2416 11-74
FRAMEWORLD Economy Aluminum 

Floor Mount 
1"

2415-Black BLB-15AL
FRAMEWORLD Black Economy 

Aluminum Floor 
1.5"

2415-Black BLB-15AL3
FRAMEWORLD Black 3" Economy 

Aluminum Flo 
1.5"

2135-Black BLBP-1
FRAMEWORLD Black Leveling Plate,1/2-

13 
1.5"

2130-Black BLBP-1A
FRAMEWORLD Black Leveling Plate,3/8-

16 
1.5"

2140-Black BLBP-2
FRAMEWORLD Black Leveling Plate,1/2-

13 
1.5"

800-999-7378
74



80/20 PART # F-W PART # DESCRIPTION IMAGE SERIES

SEARCH BY 80/20 OR FRAME-WORLD PART NUMBER AT  https://www.airlinehyd.com/category/INCH_EXTRUSION/4215

2420-Black BLP-5
FRAMEWORLD Black Caster Moun�ng 

Plate f 
1.5"

2141-Black BLP-6
FRAMEWORLD Black Leveling Plate,1/2-

13 
1.5"

2187 EAL-1
FRAMEWORLD Adjustable 

Leg(Economy) 5/16- 
1.5"

2194 EAL-10
FRAMEWORLD Adjustable Leg 5/16-18 

thd 
1.5"

2188 EAL-2
FRAMEWORLD Adjustable 

Leg(Economy) 3/8-1 
1.5"

2200 EAL-3
FRAMEWORLD Adjustable Leg  1/2-13 

thd 
1.5"

2190 EAL-4
FRAMEWORLD Adjustable Leg 3/8-16 

thd 
1.5"

2202 EAL-6
FRAMEWORLD Adjustable Leg  3/4-10 

thd 
1.5"

2207 EAL-8
FRAMEWORLD Adjustable Leg 

(Cushioned)  3 
1.5"

2208 EAL-9
FRAMEWORLD Adjustable Leg 

(Cushioned)  1 
1.5"

800-999-7378
75



80/20 PART # F-W PART # DESCRIPTION IMAGE SERIES

SEARCH BY 80/20 OR FRAME-WORLD PART NUMBER AT  https://www.airlinehyd.com/category/INCH_EXTRUSION/4215

2195 EAL-E1
FRAMEWORLD Adjustable 

Leg(Economy)  5/16 
1.5"

2191 EAL-E2
FRAMEWORLD Adjustable 

Leg(Economy)  3/8- 
1.5"

2148 EB-154
FRAMEWORLD Floor Lock Moun�ng 

Plate 
1.5"

2415 EB-15AL
FRAMEWORLD Economy Aluminum 

Floor Mount 
1.5"

2417 EB-15AL3
FRAMEWORLD Economy Aluminum 

Floor Mount 
1.5"

14007 EB-70
FRAMEWORLD Adjustable Leveling 

Foot 
1.5"

2135 EBP-1 FRAMEWORLD Leveling Plate 1.5"

2130 EBP-1A FRAMEWORLD Leveling Plate 1.5"

2365 EBP-1C FRAMEWORLD Leveling Plate 1.5"

2140 EBP-2 FRAMEWORLD Leveling Plate 1.5"

800-999-7378
76



80/20 PART # F-W PART # DESCRIPTION IMAGE SERIES

SEARCH BY 80/20 OR FRAME-WORLD PART NUMBER AT  https://www.airlinehyd.com/category/INCH_EXTRUSION/4215

2366 EBP-2C
FRAMEWORLD Leveling Plate 3/4-10 

thd 
1.5"

2180 EBP-3
FRAMEWORLD Leveling Anchor Plate 

1/2-13 
1.5"

2175 EBP-4
FRAMEWORLD Leveling Anchor Plate 

1/2-13 
1.5"

2170 EBP-4A
FRAMEWORLD Leveling Anchor Plate 

3/8-16 
1.5"

2420 EBP-5 FRAMEWORLD Caster Moun�ng Plate 1.5"

2426 EBP-5A FRAMEWORLD Caster Moun�ng Plate 1.5"

2141 EBP-6
FRAMEWORLD Leveling Plate 1/2-13 

UNC thd 
1.5"

2367 EBP-6C
FRAMEWORLD Leveling Plate 3/4-10 

UNC thd 
1.5"

2165 EBP-8 FRAMEWORLD Leveling Anchor Plate 1.5"

2317 EC-3S
FRAMEWORLD Swivel Plate Caster 

w/Brake 
1.5"

800-999-7378
77



80/20 PART # F-W PART # DESCRIPTION IMAGE SERIES

SEARCH BY 80/20 OR FRAME-WORLD PART NUMBER AT  https://www.airlinehyd.com/category/INCH_EXTRUSION/4215

2314 ECT-4F
FRAMEWORLD Total Lock Fixed Plate 

Caster 
1.5"

2321 ECT-4S
FRAMEWORLD Total Lock Swivel Plate 

Caste 
1.5"

2316 ECT-5F
FRAMEWORLD Total Lock Fixed Plate 

Caster 
1.5"

2323 ECT-5S
FRAMEWORLD Total Lock Swivel Plate 

Caste 
1.5"

2901 EF-WA-38
FRAMEWORLD Wedge Anchor,3/8-16 

thdx2.75 
1.5"

2906 EF-WA-50
FRAMEWORLD Wedge Anchor,1/2-13 

thdx3.75 
1.5"

2318 11-110
FRAMEWORLD Swivel Plate Caster 

w/brake(3 

2312 11-120 FRAMEWORLD Fixed Plate Caster(3") 

2731 EB-151 FRAMEWORLD Floor Lock 

2299 EC-S1 FRAMEWORLD Threaded Stem Caster 

800-999-7378
78



80/20 PART # F-W PART # DESCRIPTION IMAGE SERIES

SEARCH BY 80/20 OR FRAME-WORLD PART NUMBER AT  https://www.airlinehyd.com/category/INCH_EXTRUSION/4215

2300 EC-S2 FRAMEWORLD Threaded Stem Caster 

2305 EC-S3 FRAMEWORLD Threaded Stem Caster 

2716 KC-100F FRAMEWORLD Leveling Caster 

MACHINING

7060 EM-2
FRAMEWORLD Machine Service-End 

Hole Tap 
 

6131 11-150 FRAMEWORLD Drill Fixture 1"

6136 11-151 FRAMEWORLD Drill Fixture 1"

7042 EM-7
FRAMEWORLD Machine Service-

Anchor Fasten 
1"

6130 EF-80 FRAMEWORLD Drill Fixture 1.5"

6135 EF-81 FRAMEWORLD Drill Fixture 1.5"

7082 EM-10
FRAMEWORLD Machine Service-

Gusset Counterbore 
1.5"

79



80/20 PART # F-W PART # DESCRIPTION IMAGE SERIES

SEARCH BY 80/20 OR FRAME-WORLD PART NUMBER AT  https://www.airlinehyd.com/category/INCH_EXTRUSION/4215

7050 EM-13 FRAMEWORLD Machine Acess Hole 1.5"

7040 EM-5
FRAMEWORLD Machine Service-

Anchor Fasten 
1.5"

7041 EM-8
FRAMEWORLD Machine Service-

Anchor Bu� F 
1.5"

2290 ER FRAMEWORLD T-Slot Roller 1.5"

7010 EM-1-EX45
FRAMEWORLD Machine Service-Cut to 

Length 

7050 EM-3
FRAMEWORLD Machine Service-

Access Hole D 

7257 EM-3C
FRAMEWORLD Machine Service - 

C'sink/C'bo 

7503 EM-3P
FRAMEWORLD Machine Service - 

Clearance H 

7155 EM-4L
FRAMEWORLD Machine Service-Cut 

Panels to 

7600 EM-4N
FRAMEWORLD Machine Service - Panel 

Notch 

800-999-7378
80



80/20 PART # F-W PART # DESCRIPTION IMAGE SERIES

www.airlinehyd.com/inch-extrusion

7150 EM-4S
FRAMEWORLD Machine Service-Cut 

Panels to 

7065 EM-6
FRAMEWORLD Machine Service-Mitre 

Cut 

7043 EM-9
FRAMEWORLD Machine Service-

Anchor Bu� F 

800-999-7378

81




